

An Algorithm for Explicit Form of Fundamental Units of Certain Real Quadratic Fields

Ozen Ozer^{1,*} and Ayten Pekin²

¹ Faculty of Art and Sciences, Department of Mathematics, Kırklareli University, Kırklareli, Turkey

² Faculty of Sciences, Department of Mathematics, Istanbul University, Istanbul, Turkey

Received: 20 Jul. 2015, Revised: 9 Aug. 2015, Accepted: 10 AUG. 2015

Published online: 1 Jan. 2016

Abstract: Quadratic fields have applications in different areas of mathematics such as quadratic forms, algebraic geometry, diophantine equations, algebraic number theory, and even cryptography. The Unit Theorem for real quadratic fields says that every unit in the integer ring of a quadratic field is given in terms of the fundamental unit of the quadratic field. Thus determining the fundamental units of quadratic fields is of great importance. In this paper, we obtained an explicit formulation to determine the forms of continued fraction expansion and fundamental units of certain real quadratic number fields where the period in the continued fraction expansion of the quadratic irrational number of the certain real quadratic fields is equal to 7 by using a practical algorithm for special cases. Moreover, a part of this paper is generalize and complete [2].

Keywords: continued fractions for quadratic irrational numbers, fundamental unit

subjclass[2010] Primary 11A55, Secondary 11R27

1 Introduction and Notation

Determination of the fundamental units of quadratic fields has a great importance at many branches in number theory. Although the fundamental units of real quadratic fields of Richaut-Degert type are well-known, explicit form of the fundamental units are not known very well and these determinations were very limited except for these type. Therefore Tomita has described explicitly the form of the fundamental units of the real quadratic fields $Q(\sqrt{d})$ such that d is a square-free positive integer congruent to 1 modulo 4 and the period k_d in the continued fraction expansion of the quadratic irrational number $\omega_d = \frac{1+\sqrt{d}}{2}$ in $Q(\sqrt{d})$ is equal to 3 and 4, 5 respectively in [5] and [6]. Later, explicit form of the fundamental units for all real quadratic fields $Q(\sqrt{d})$ such that the period k_d in the continued fraction expansion of the quadratic irrational number ω_d is equal to 6, has been described in [4]. The aim of this paper is to determine the general forms of continued fractions and fundamental units for special cases and also generalize and complete the some of theorems had been given in [2].

In this paper, we will deal with some real quadratic fields $Q(\sqrt{d})$ such that d is a square free positive integer

not only congruent to 1 modulo 4 but also congruent to 2 modulo 4 and the period $k_d = k$ in the continued fraction expansion of the quadratic irrational number ω_d in $Q(\sqrt{d})$ is equal to 7 and describe explicitly T_d, U_d in the fundamental unit $\varepsilon_d = \left(\frac{T_d+U_d\sqrt{d}}{2}\right) > 1$ of $Q(\sqrt{d})$ and also the form of d is written by using parameters which are appearing in the continued fraction expansion of ω_d .

Let $I(d)$ be the set of all quadratic irrational numbers in $Q(\sqrt{d})$. For an element ξ of $I(d)$ if $\xi > 1$, $-1 < \xi' < 0$ then ξ is called reduced, where ξ' is the conjugate of ξ with respect to Q . More information on reduced irrational numbers may be found in [3] and [7]. We denote by $R(d)$ the set of all reduced quadratic irrational numbers in $I(d)$. It is well known that if an element ξ of $I(d)$ is in $R(d)$ then the continued fractional expansion of ξ is purely periodic. Moreover, the denominator of its modular automorphism is equal to fundamental unit ε_d of $Q(\sqrt{d})$ and the norm of ε_d is $(-1)^{k_d}$ in [1] and [7]. In this paper $[x]$ means the greatest integer less than or equal to x and continued fraction with period $k_d = k$ is generally denoted by $[a_0, \overline{a_1, a_2, \dots, a_k}]$.

* Corresponding author e-mail: ozenozer@klu.edu.tr

2 Preliminaries and Lemmas

In this section some of the important required preliminaries and lemmas are given.

Now, for any square-free positive integer d , we can put $d = a^2 + b$ with $a, b \in \mathbb{Z}$, $0 < b \leq 2a$. Here, since $\sqrt{d} - 1 < a < \sqrt{d}$ the integers a and b are uniquely determined by d .

Let d be a square-free positive integer then we will consider the following two special cases:

Case 1. $d \equiv 1 \pmod{4}$, if a is even, then $b = 8\ell + 5$ with $\ell \in \mathbb{Z}$, $\ell \geq 0$.

Case 2. $d \equiv 2 \pmod{4}$, if a is odd, then $b = 4m + 1$ with $m \in \mathbb{Z}$, $m \geq 0$.

Let denote by D_t^k the set of all positive square-free integer d such that $d \equiv k \pmod{8}$ and $b \equiv t \pmod{8}$. Hence, we have $D_t^k = \{d \in \mathbb{Z} \mid d \equiv k \pmod{8}, b \equiv t \pmod{8}\}$. Then, we get some remarks as follows:

Remark 2.1. d can be congruent to 1 or 5 modulo 8 since d is congruent to 1 modulo 4.

In the case of $d \equiv 1 \pmod{8}$, b can be congruent to 0, 1 or 5 modulo 8. Therefore, the set of all positive square-free integers congruent to 1 modulo 8 is equal $D_0^1 \cup D_1^1 \cup D_5^1$. Thus the set of all positive square free integers congruent to 1 modulo 8 is the union of D_0^1, D_1^1, D_5^1 .

In the case of $d \equiv 5 \pmod{8}$, b can be congruent to 1, 4 or 5 modulo 8. So the set of all positive square-free integers congruent to 5 modulo 8 is equal to $D_1^5 \cup D_4^5 \cup D_5^5$.

Remark 2.2. Let d be a square-free positive integer congruent to 1 modulo 4, then,

If a is even; b can only be congruent to 1 or 5 modulo 8 since $b \equiv 1 \pmod{4}$ when a is even. Then, d belongs to $D_5^5 \cup D_5^1$ in the Case1.

Remark 2.3. The sets $D_0^1, D_1^1, D_5^1, D_1^5, D_4^5$ and D_5^5 are represented as follows;

$$D_0^1 = \{d \in D \mid d = a^2 + 8m, a \equiv 1 \pmod{2}, 0 < 4m < a\}$$

$$D_1^1 = \{d \in D \mid d = a^2 + 8m + 1, a \equiv 0 \pmod{4}, 0 \leq 4m < a\}$$

$$D_5^1 = \{d \in D \mid d = a^2 + 8m + 5, a \equiv 2 \pmod{4}, 0 \leq 4m < a - 2\}$$

$$D_1^5 = \{d \in D \mid d = a^2 + 8m + 1, a \equiv 2 \pmod{4}, 0 \leq 4m < a\}$$

$$D_4^5 = \{d \in D \mid d = a^2 + 8m + 4, a \equiv 1 \pmod{2}, 0 \leq 4m < a - 2\}$$

$$D_5^5 = \{d \in D \mid d = a^2 + 8m + 5, a \equiv 0 \pmod{4}, 0 \leq 4m < a - 2\}$$

Now in order to prove our theorems we need the following lemmas.

Lemma 2.4. For a square-free positive integer $d > 5$ congruent to 1 modulo 4, we put $\omega_d = (\frac{1+\sqrt{d}}{2})$, $q_0 = [\omega_d]$, $\omega_R = q_0 - 1 + \omega_d$. Then $\omega_d \notin R(d)$, but $\omega_R \in R(d)$ holds. Moreover for the period k of ω_R , we get
$$\omega_R = \frac{[2q_0 - 1, q_1, \dots, q_{k-1}]}{[2q_0 - 1, q_1, \dots, q_{k-1}]}$$
 and

$\omega_d = [q_0, q_1, \dots, q_{k-1}, 2q_0 - 1]$. Furthermore, let $\omega_R = \frac{(P_{k-1}\omega_R + P_{k-2})}{(Q_{k-1}\omega_R + Q_{k-2})} = [2q_0 - 1, q_1, \dots, q_{k-1}, \omega_R]$ be a modular automorphism of ω_R , then the fundamental unit ε_d of $Q(\sqrt{d})$ is given by the following formula:

$$\varepsilon_d = \left(\frac{T_d + U_d \sqrt{d}}{2}\right) > 1,$$

$T_d = (2q_0 - 1)Q_{k-1} + 2Q_{k-2}$, $U_d = Q_{k-1}$, where Q_i is determined by $Q_{-1} = 0$, $Q_0 = 1$, $Q_{i+1} = q_{i+1}Q_i + Q_{i-1}$, ($i \geq 0$).

Moreover, for a square-free positive integer d congruent to 2, 3 modulo 4, we put $\omega_d = \sqrt{d}$, $q_0 = [\omega_d]$, $\omega_R = q_0 + \omega_d$. Then $\omega_d \notin R(d)$, but $\omega_R \in R(d)$ holds. Moreover for the period k of ω_R , we get
$$\omega_R = \frac{[2q_0, q_1, \dots, q_{k-1}]}{[2q_0, q_1, \dots, q_{k-1}]}$$
 and
$$\omega_d = \frac{(P_{k-1}\omega_R + P_{k-2})}{(Q_{k-1}\omega_R + Q_{k-2})} = [2q_0, q_1, \dots, q_{k-1}, \omega_R]$$
 be a modular automorphism of ω_R , then the fundamental unit ε_d of $Q(\sqrt{d})$ is given by the following formula:

$$\varepsilon_d = \left(\frac{T_d + U_d \sqrt{d}}{2}\right) > 1,$$

$T_d = 2q_0 Q_{k-1} + 2Q_{k-2}$, $U_d = 2Q_{k-1}$, where Q_i is determined by $Q_{-1} = 0$, $Q_0 = 1$, $Q_{i+1} = q_{i+1}Q_i + Q_{i-1}$, ($i \geq 0$).

Proof. See[6, Lemma 1].

Lemma 2.5. For a square-free positive integer d , we put $d = a^2 + b$ ($0 < b \leq 2a$), $a, b \in \mathbb{Z}$. Moreover let $\omega_i = \ell_i + \frac{1}{\omega_{i+1}}$ ($\ell_i = [\omega_i]$, $i \geq 0$) be the continued fraction expansion of $\omega = \omega_0$ in $R(d)$. Then each ω_i is expressed in the form $\omega_i = \frac{a - r_i + \sqrt{d}}{c_i}$ ($c_i, r_i \in \mathbb{Z}$), and ℓ_i, c_i, r_i can be obtained from the following recurrence formula:

$$\omega_0 = \frac{a - r_0 + \sqrt{d}}{c_0},$$

$$2a - r_i = c_i \ell_i + r_{i+1},$$

$$c_{i+1} = c_{i-1} + (r_{i+1} - r_i) \ell_i \quad (i \geq 0), \text{ where } 0 \leq r_{i+1} < c_i,$$

$$c_{-1} = \frac{(b + 2ar_0 - r_0^2)}{c_0}.$$

Moreover for the period $k \geq 1$ of ω_0 , we get

$$\ell_i = \ell_{k-i} \quad (1 \leq i \leq k-1),$$

$$r_i = r_{k-i+1}, \quad c_i = c_{k-i} \quad (1 \leq i \leq k).$$

Proof. See[1, Proposition 1].

Lemma 2.6. For a square-free positive integer d congruent to 1 modulo 4, we put $\omega_d = (\frac{1+\sqrt{d}}{2})$, $q_0 = [\omega_d]$ and $\omega_R = q_0 - 1 + \omega_d$.

If we put $\omega = \omega_R$ in Lemma 2.5. , then we have the following recurrence formula:

$$r_0 = r_1 = a - l_0 = a - 2q_0 + 1,$$

$$c_0 = 2, \quad c_1 = c_{-1} = \frac{(b + 2ar_0 - r_0^2)}{c_0},$$

$$l_0 = 2q_0 - 1, \quad \ell_i = q_i \quad (1 \leq i \leq k-1).$$

For a square-free positive integer d congruent to 2, 3 modulo 4, we put $\omega_d = \sqrt{d}$, $q_0 = [\omega_d]$ and $\omega_R = q_0 + \omega_d$.

If we put $\omega = \omega_R$ in Lemma 2.5. , then we have the following recurrence formula:

$$r_0 = r_1 = 0, c_0 = 1, c_1 = b, \\ \ell_0 = 2q_0, \ell_i = q_i \ (1 \leq i \leq k-1).$$

Proof. It can be easily proved by using Lemma 2.5.

3 Theorems

Theorem 3.1. Let $d = a^2 + b \equiv 1 \pmod{4}$ is a square free integer for positive integer a is even and b satisfying $0 < b \leq 2a, b \equiv 5 \pmod{8}$, (i.e. $d \in D^1_5 \cup D^5_5$). Let the period k_d of the integral basis element of $\omega_d = (\frac{1+\sqrt{d}}{2})$ in $Q(\sqrt{d})$ be 7. Then,

$$\omega_d = [\frac{a}{2}, 1, \ell_2, \ell_3, \ell_3, \ell_2, 1, a-1]$$

for the positive integers ℓ_2, ℓ_3 such that $1 \leq \ell_i \leq a \ (i = 1, 2)$ and then

$$(T_d, U_d) = (A(AC+D) + B^2(C+E), A^2 + B^2)$$

and

$$d = C^2 + 2rF + G$$

hold, where A, B, C, D, E, F, G and the integers $r \geq 0$ and $s \geq 0$ are determined uniquely as follows:

$$A = \ell_2 \ell_3 + \ell_3 + 1 \\ B = \ell_2 + 1 \\ C = Ar + s \\ D = (A+2)\ell_2 \ell_3 + \ell_2^2 + 1 \\ E = \ell_3 + 1 \\ F = D - AE \\ G = 2CE + (A - \ell_3)^2 + (B - 2)^2 + (B - 1)^2 \\ a = A(r+1) + s - \ell_2, \quad \ell_2(\ell_3 - B) + 1 = rB^2 - sA.$$

Proof. In the case a is even and $b \equiv 5 \pmod{8}$, $d \equiv 1 \pmod{4}$ can only belong to $D^1_5 \cup D^5_5$. Since $q_0 = [\omega_d] = \frac{a}{2}$, it follows from Lemma 2.6 that $r_0 = r_1 = a - 2q_0 + 1 = 1 = a - \ell_0$ then $\ell_0 = a - 1, r_1 = 1$ and $c_0 = 2, c_1 = c_{-1} = a + 4m + 2$. For $i = 1$ and by Lemma 2.5 we have;

$$2a - r_1 = c_1 \ell_1 + r_2 \Rightarrow 2a = (a + 4m + 2)\ell_1 + r_2 + 1 \\ \Rightarrow a(2 - \ell_1) = (4m + 2)\ell_1 + r_2 + 1 \Rightarrow \ell_1 = 1 \text{ holds from } \ell_1 \geq 0, a > 0 \text{ and } \ell_1 < 2.$$

Since $\ell_1 = \ell_6, \ell_2 = \ell_5, \ell_3 = \ell_4$ then we obtain;

$$\omega_d = [\frac{a}{2}, 1, \ell_2, \ell_3, \ell_3, \ell_2, 1, a-1].$$

for $\ell_1 = 1$ we have

$$a = 4m + r_2 + 3. \tag{1}$$

$a = 4m + r_2 + 3 \Rightarrow r_2 = a - 4m - 3$ is an odd number because of a is even, and so $r_2 < a$ holds from (1) and $b \leq 2a$. From Lemma 2.5; $2a - r_2 = c_2 \ell_2 + r_3$ and $c_2 = c_0 + (r_2 - r_1)\ell_1 \Rightarrow c_2 = a - 4m - 2$ holds , and so we have $c_2 = r_2 + 1$. Moreover, from Lemma 2.5 we get

$$2a = (r_2 + 1)\ell_2 + r_2 + r_3 \tag{2}$$

On the other hand, we have

$$c_3 = c_1 + (r_3 - r_2)\ell_2 \Rightarrow c_3 = (a + 4m + 2) + (r_3 - r_2)\ell_2.$$

and

$$c_4 = c_2 + (r_4 - r_3)\ell_3 \Rightarrow c_4 = (r_2 + 1) + (r_4 - r_3)\ell_3.$$

By using equalities $c_3 = c_4$ and $a = 4m + r_2 + 3$ we obtain

$$8m + 4 = (r_2 - r_3)\ell_2 + (r_4 - r_3)\ell_3. \tag{3}$$

Since $2a = c_3 \ell_3 + r_3 + r_4$ from Lemma 2.5 then we have

$$r_4 = 2a - [(a + 4m + 2) + (r_3 - r_2)\ell_2]\ell_3 - r_3. \tag{4}$$

and

$$8m + 6 = (r_2 + 1)\ell_2 + r_3 - r_2. \tag{5}$$

It follows from (3) and (5) we get immediately

$$r_2 = (r_3 - r_4)\ell_3 + (r_3 + 1)\ell_2 + r_3 - 2. \tag{6}$$

By taking $a = 4m + r_2 + 3$ and by using equalities (1), (3) and (4) we can make an explication as follows:

$d \in D^1_5 \Rightarrow r_2 \equiv 3 \pmod{4}, r_3 \equiv 1 \pmod{4}$ holds for $a \equiv 2 \pmod{4}$,

$d \in D^5_5 \Rightarrow r_2 \equiv 1 \pmod{4}, r_3 \equiv 1 \pmod{4}$ or $r_3 \equiv 3 \pmod{4}$ holds for $a \equiv 0 \pmod{4}$.

If $d \in D^5_5 \cup D^1_5$ then we have $r_3 = 2r + 1 \equiv 1 \pmod{2}$, $r \geq 0$ and $r_4 = 2s + 1 \ni s \geq 0$. Furthermore we can easily see that

$$r_2 = 2(r - s)\ell_3 + 2(r + 1)\ell_2 + 2r - 1 \tag{7}$$

from the Lemma 2.5 and from (4), (6).

We know that $c_3 = c_4 = (r_2 + 1) + (r_3 - r_4)\ell_3$ and so if we put $r_2 = 2\ell_3(r - s) + 2(r + 1)\ell_2 + 2r - 1$ in $2a = [(r_2 + 1) + (r_3 + r_4)\ell_3]\ell_3 + r_3 + r_4$ then we can obtain

$$a = r(\ell_2 \ell_3 + \ell_3 + 1) + s + \ell_2 \ell_3 + 1. \tag{8}$$

In this equation, if we take $\ell_2 \ell_3 + \ell_3 + 1 = A$ then we can also write $a = A(r + 1) + s - \ell_3$. By using equalities (1), (3) and (7) we get $2a = (r_2 - r_3)\ell_2 + (r_4 - r_3)\ell_3 + 4\ell_2(r + 1) + 4\ell_3(r - s) + 4r - 2$ and by taking in this equation $r_2 = 2(r - s)\ell_3 + 2(r + 1)\ell_2 + 2r - 1, r_3 = 2r + 1$ and $r_4 = 2s + 1$ we have $r(\ell_2 + 1)^2 - s(\ell_2 \ell_3 + \ell_3 + 1) - \ell_2[\ell_3 - \ell_2 - 1] - 1 = 0$. Since $A = \ell_2 \ell_3 + \ell_3 + 1, B = \ell_2 + 1$ then $\ell_2[\ell_3 - B] + 1 = rB^2 - sA$ holds. We can immediately that r and s uniquely-defined from the equalities $a = (r + 1)A + s - \ell_3$ and $\ell_2[\ell_3 - B] + 1 = rB^2 - sA$.

Now, let's determine the coefficients T_d and U_d of the fundamental unit ε_d by using Lemma 2.4. Since

$$Q_{-1} = 0$$

$$Q_0 = 1$$

$$q_i = \ell_i, \ (1 \leq i \leq k_d - 1)$$

$$Q_{i+1} = q_{i+1} \cdot Q_i + Q_{i-1} \quad (i \geq 0)$$

$$Q_1 = \ell_1 = 1$$

$$Q_2 = \ell_2 + 1 = B$$

$Q_3 = \ell_2 \ell_3 + \ell_3 + 1 = A$
 $Q_4 = A \ell_3 + B$
 $Q_5 = \ell_2(A \ell_3 + B) + A = A(\ell_2 \ell_3 + 1) + B \ell_2$
 $Q_6 = A(\ell_2 \ell_3 + 1) + B \ell_2 + A \ell_3 + B = A^2 + B^2$
 then we have $T_d = (Ar + s)(A^2 + B^2) + A[\ell_2 \ell_3(A + 2) + 2] + \ell_2[(A + 1) + B]$ and $U_d = A^2 + B^2$ for taking the following equalities $2q_0 - 1 = a - 1 = Ar + s + \ell_2 \ell_3$, $T_d = (2q_0 - 1)Q_6 + 2Q_5$, $C = Ar + s$, $D = (A + 2)\ell_2 \ell_3 + \ell_2^2 + 1$, $E = \ell_3 + 1$ and so $T_d = A(AC + D) + B^2(C + E)$, $U_d = A^2 + B^2$ hold.

Now, we write $d = a^2 + b$ depends on the parameters ℓ_2, ℓ_3, r and s . For this if we put $r_2 = 2(r - s)\ell_3 + 2(r + 1)\ell_2 + 2r - 1$, $r_3 = 2r + 1$, $r_4 = 2s + 1$ instead of r_2, r_3 and r_4 in (4) then we obtain $8m + 4 = [2\ell_3(r - s)\ell_2 + 2\ell_2^2(r + 1) - 2\ell_2 + 2(s - r)]\ell_3$ and $b = 8m + 5 = 2\ell_2^2(r + 1) + 2(r - s)(\ell_2 - 1)\ell_3 - 2\ell_2 + 1$. By putting the values $a = A(r + 1) + s - \ell_3$ and b in $d = a^2 + b$ we have $d = a^2 + b = (Ar + s)^2 + 2r(D - AE) + 2CE + (A - \ell_3)^2 + (B - 2)^2 + (B - 1)^2$. Where, if we take $D - AE = F$ and $2CE + (A - \ell_3)^2 + (B - 2)^2 + (B - 1)^2 = G$ then $d = C^2 + 2rF + G$ holds. Thus, the theorem is proved completely.

Theorem 3.2. Let $d = a^2 + b \equiv 2 \pmod{4}$ is a square free integer such that a is odd integer and the period k_d of the integral basis element of $\omega_d = \sqrt{d}$ in $Q(\sqrt{d})$ be 7. If $b \equiv 1 \pmod{4}$ then,

$$\omega_d = [a, \overline{\ell_1, \ell_2, \ell_3, \ell_3, \ell_2, \ell_1, 2a}]$$

for the positive integers ℓ_1, ℓ_2, ℓ_3 such that $\ell_i \geq 1$ ($i = 1, 2, 3$) and then

$$(T_d, U_d) = (2[a(A^2 + B^2) + BC + A\ell_2], 2(A^2 + B^2))$$

and

$$d = A^2 r^2 - 2rD + E$$

hold, where $A, B, C, D, E, r \geq 0, e \geq 0$ are integers and these are determined uniquely as follows:

$$\begin{aligned}
 A &= \ell_1 \ell_2 + 1 \\
 B &= \ell_1 + A \ell_3 \\
 C &= \ell_2 \ell_3 + 1 \\
 D &= A \ell_1 - \ell_2 \\
 E &= \ell_1^2 e^2 - 2e + 1 \\
 a &= Ar - \ell_1 e, \\
 A^2 + B^2 - C^2 - \ell_2^2 &= 2rB + 2e(A + B\ell_3).
 \end{aligned}$$

Proof. Since $d \equiv 2 \pmod{4}$ and $b \equiv 1 \pmod{4}$ then we have $b = 4m + 1$ for the positive integers a, b, m with $a < b \leq 2a$. From the Lemma 2.6. it is clear that $w_d = [a, \ell_1, \ell_2, \ell_3, \ell_4, \ell_5, \ell_6, 2a]$ for $q_0 = a$ and $k_d = 7$. Besides from the Lemma 2.6 we obtain $r_0 = r_1 = 0$, $c_0 = 1$, $c_1 = b = 4m + 1$, $\ell_0 = 2q_0 = 2a$. By using Lemma 2.5 and Lemma 2.6 $w_d = [a, \ell_1, \ell_2, \ell_3, \ell_3, \ell_2, \ell_1, 2a]$ for $\ell_1 = \ell_6, \ell_2 = \ell_5, \ell_3 = \ell_4$ and $\ell_i \geq 1 \ni \forall i = 1, 2, 3$.

If we use the equality $2a - r_i = c_i \ell_i + r_{i+1}$ for $i \geq 0$ in Lemma 2.5 then we write $2a = (4m + 1)\ell_1 + r_2$. Therefore $(4m + 1)\ell_1 + r_2 \equiv 0 \pmod{2}$ and $r_2 = 2r - \ell_1$

hold for the convenient integer $r \geq 0$. If we consider these equalities then $a = 2m\ell_1 + r$ holds, where a is an odd number and it is clear that r should be an odd number. Furthermore we obtain $c_2 = c_0 + (r_2 - r_1)\ell_1 = 1 + r_2\ell_1$ from the equality $c_{i+1} = c_{i-1} + (r_{i+1} - r_i)\ell_i$ ($i \geq 0$). Therefore if we use this equality and $2a - r_2 = c_2\ell_2 + r_3$ then we obtain $2a = (1 + r_2\ell_1)\ell_2 + r_3$.

Since $2a = (4m + 1)\ell_1 + r_2$ and $2a = (1 + r_2\ell_1)\ell_2 + r_3$ then we have

$(4m + 1)\ell_1 = (1 + r_2\ell_1)\ell_2 + r_3$. If we get $(\text{mod } \ell_1)$ then $\ell_2 + r_3 \equiv 0 \pmod{\ell_1}$ and $r_3 = \ell_1 t - \ell_2$ hold for the convenient integer $t \geq 0$. If $r_3 = \ell_1 t - \ell_2$ then it is easily seen that $4m = t + 2r\ell_2 - \ell_1 \ell_2 - 1$. Moreover if we take $A = \ell_1 \ell_2 + 1$ then $t - A = 4m - 2r\ell_2$ holds and if $t < A$ then there is an integer $s < 0$ such that $t - A = 2s$. (if $t > A$ then look in [2].) If it is taken $s < 0$, $s = -e$ and $e > 0$ then it is obtained $2e = A - t = 2r\ell_2 - 4m$, $e = r\ell_2 - 2m$ and $2m = r\ell_2 - e$. By putting $2m = r\ell_2 - e$ in $a = 2m\ell_1 + r$ then we have $a = (r\ell_2 - e)\ell_1 + r = Ar - \ell_1 e$. Since $c_3 = c_1 + (r_3 - r_2)\ell_2 = 4m + 1 + (r_3 - r_2)\ell_2$, $r_2 = 2r - \ell_1$ ve $r_3 = \ell_1 t - \ell_2$ from the Lemma 2.5 then $c_3 = At - \ell_2^2$ holds. If we put the value c_3 in $2a = c_3\ell_3 + r_3 + r_4$ then we have $2a = (At - \ell_2^2)\ell_3 + r_3 + r_4$. We know that $c_3 = c_4$ therefore if we take the equalities $At - \ell_2^2 = c_2 + (r_4 - r_3)\ell_3$, $c_2 = 1 + r_2\ell_1$, $r_2 = 2r - \ell_1$, $r_3 = \ell_1 t - \ell_2$ ve $r_4 = (2r - \ell_1 - t\ell_3)A + \ell_2(\ell_2 \ell_3 + 1)$ then we obtain $At - \ell_2^2 = r_2 + (r_4 - r_3)\ell_3 = 1 + r_2\ell_1 + r_4\ell_3 - r_3\ell_3 = 1 + (2r - \ell_1)\ell_1 + [(2r - \ell_1 - t\ell_3)A + \ell_2(\ell_2 \ell_3 + 1)]\ell_3 - (\ell_1 t - \ell_2)\ell_3 = (1 + \ell_2 \ell_3)^2 + 2r(\ell_1 + A\ell_3) - t\ell_3(\ell_1 + A\ell_3) - \ell_1(\ell_1 + A\ell_3)$.

If it is taken $\ell_1 + A\ell_3 = B$, $t = A - 2e$ and $1 + \ell_2 \ell_3 = C$ then $A^2 + B^2 - C^2 - \ell_2^2 = 2rB + 2e(A + B\ell_3)$ holds from $At - \ell_2^2 = C^2 + B(2r - t\ell_3 - \ell_1)$ and $t = A - 2e$.

Now we will show that the integers r and e are uniquely determined with the inequalities $a = Ar - \ell_1 e$ and $A^2 + B^2 - C^2 - \ell_2^2 = 2rB + 2e(A + B\ell_3)$. If we assume that the integers r and s is not determined uniquely then we have $A^2 + B^2 = 0$ which is a contradiction because of $A, B > 0$. Therefore, the integers r and e are uniquely determined.

Then, we can calculate, $Q_{i+1} = q_{i+1}Q_i + Q_{i-1}$, ($i \geq 0$) where $Q_{-1} = 0$, $Q_0 = 1$ as follows

$$\begin{aligned}
 Q_{-1} &= 0 \\
 Q_0 &= 1 \\
 Q_1 &= \ell_1 \\
 Q_2 &= A \\
 Q_3 &= B \\
 Q_4 &= \ell_3 B + A \\
 Q_5 &= C(A\ell_3 + \ell_1) + A\ell_2 = BC + A\ell_2 \text{ and } Q_6 = A(\ell_1 \ell_2 + 1) + \ell_3(A\ell_3 + \ell_1) + BC\ell_1 = A^2 + B^2 \text{ hold by Lemma 2.4,} \\
 &\text{we obtain that}
 \end{aligned}$$

$$T_d = 2[a(A^2 + B^2) + BC + A\ell_2] \text{ and } U_d = 2(A^2 + B^2).$$

4 An Application

In this section, we will give numerical example by using the algorithm of our Theorem 3.1. and Theorem 3.2. This provides us to determine ω_d and ϵ_d rapidly.

As an application of Theorem 3.1. we can practically determine the continued fraction expansion of ω_d where $d = 113 = 10^2 + 13 \equiv 1 \pmod{4}$ for $a = 10 \equiv 2 \pmod{4} \equiv 0 \pmod{2}$ and $b = 13 \equiv 5 \pmod{8}$. We easily see that $\ell_1 = 1$, $c_0 = 2$, $r_0 = r_1 = 1$, $c_1 = a + 4m + 2 = 16$, $r_2 = 3$, for $a = 4m + 3 + r_2$ and $c_2 = 4$ for $c_2 = r_2 + 1$. Moreover

$$2a = (r_2 + 1)\ell_2 + r_2 + r_3 \Rightarrow r_3 = 1 \text{ holds for } \ell_2 = 4, r_2 = 3 \text{ } a = 10,$$

$$c_3 = c_1 + (r_3 - r_2)\ell_2 \Rightarrow c_3 = 8 \text{ and } 8m + 4 = (r_2 - r_3)\ell_2 + (r_4 - r_3)\ell_3 \Rightarrow r_4 = 3 \text{ hold for } \ell_1 = 1, \ell_2 = 4, \ell_3 = 2, m = 1, r_2 = 3, r_3 = 1.$$

Hence ω_d can be determined rapidly as follows;

$$\omega_d = [5, \overline{1, 4, 2, 2, 4, 1, 9}]$$

Moreover, the fundamental unit of $Q(\sqrt{113})$ is easily determined as

$$\epsilon_d = \frac{1552 + 146\sqrt{113}}{2}$$

since $A = 11, B = 5, C = 1, D = 121, E = 3, F = 88$ and $G = 112$.

In the same way, we can give an application for theorem 3.2 by using the algorithm has been expressed in this theorem and so if we take

$d = 538 = 23^2 + 9 \equiv 2 \pmod{4}$ for $a = 23 \equiv 1 \pmod{2}$ and $b = 9 \equiv 1 \pmod{4}$. We can easily get that $\ell_1 = 5, c_0 = 1, r_0 = r_1 = 0, c_1 = b = 9, m = 2, r_2 = 1, r_3 = 3, r = 3$, and $c_2 = 6$. Furthermore, we can calculate $c_3 = c_1 + (r_3 - r_2)\ell_2, \Rightarrow c_3 = 23, r_4 = 55, \ell_2 = 7, \ell_3 = 1, t = 2, s = -17, e = 17, r_4 = 55$.

Hence ω_d can be determined rapidly as follows;

$$\omega_d = [23, \overline{5, 7, 1, 1, 7, 5, 46}]$$

Moreover, the fundamental unit of $Q(\sqrt{538})$ is obtained that

$$\epsilon_d = \frac{138102 + 5954\sqrt{538}}{2}$$

since $A = 36, B = 41, C = 8, D = 3053, E = 7192$.

Acknowledgement.

This project was supported by the research scientific project of Kirklareli Universitesi with the number KLUBAP-044.

References

- [1] T. AZUHATA, On the fundamental Unit and the class numbers of real quadratic fields, *Nagoya Math. J.*, Vol. 95, 125-135, 1984.
- [2] G. KARADENİZ GÖZERİ, A. PEKİN, Explicit Form of the Fundamental Units of Certain Real Quadratic Fields *European Journal of pure and Applied Mathematics*, Vol. 7, No. 1, 55-64, 2014.
- [3] R.A MOLLIN, *Quadratics*, CRC Press Books Raton FL, 1995.
- [4] A. PEKİN, H. İSCAN, Continued Fractions of Period Six and Explicit Representations of Fundamental Units of Some Real Quadratic Fields. *Journal of the Indian Mathematical Society* Vol. 72, 184-194, 2005.
- [5] K. TOMITA, Explicit representation of fundamental units of some quadratic fields. *Proc. Japan Acad. Ser. A Math. Sci.*, Vol. 71, No:2, 41-43, 1995.
- [6] K. TOMITA, Explicit representation of fundamental units of some quadratic fields, II. *Journal of number theory*, Vol. 63., Issue 2, 275-285, 1997.
- [7] Y. YAMAMOTO, Real quadratic number fields with large fundamental units . *Osaka J. Math.*, Vol. 8, 261-270, 1971.



Ozen Ozer received her BSc and MSc degree in Mathematics from Trakya University, Edirne (Turkey) and also PhD degree in Mathematics from Sleyman Demirel University, Isparta (Turkey). Currently, she works as an Asistant Professor Doctor in

Department of Mathematics at the Krklareli University. Her research of specialization includes the p-adic Analysis, q- Analysis and the Theory of Real Quadratic Number Fields with applications.



Ayten Pekin is an Associated Profesor in Department of Mathematics at the stanbul University. She got her BSc, Msc and PhD N Mathematics from Trakya University, Edirne (Turkey). Her main research interests are Theory of Quadratic Number Fields and Liouville

Numbers.